6 9N

12, 1) nxwsn R3 9 oova v C = {(1,1,1),(0,1,1),(0,0,2)h B = {(1,0,1),(1,2,3),(0,4,0)} v (N)
NE nx awm »0 01000 DOaAN S = {el, 62,63} IWURD

NN

,_.,_.ov

1 0 0 1 0 0
me=(11 0 = -1 1 0 ]9
1 1 2 0 —-0.5 0.5
91 11 = [12[11E v yv1 ny>
1 0 0 1 1 0 1 1 0
me=| -1 1 0 02 4 |=|-1 1 4
0 —-0.5 0.5 1 3 0 0.5 0.5 =2
Jule nxowsn v = (4,5,6) v T2 v Mop o (2)
NN
1 1 0 4 9
We=MNEwp=| -1 1 4 5 1= 25
0.5 05 =2 6 —-7.5
1 1 1
A= 0 1 2 | nwaononm R3S ooa B = {(0,1,1),(1,0,1),(1,1,0)} > .2
0 1 1

C NN .C 002 mweN May A = (11§ v pmy (N)
.B ©0an a5 C mMN 5w moyTnpn 10 A mTmy s A = (11§ v 15 C = {c1, 2,3} ©02 7 )no



OG-

E nxonen LB oo nver my A = [118 vy (a)
N PYD3 10D 7T AN INAY 9o w115 NN Ny mwna pana

11 1\°" 1 0 -1
[I]§=([I]§)‘1=(0 1 2) :(0 1 2 )
01 1 0 1 -1

Yo

0 0 1 1 0
(_1):[62]326220'(1)+(—1)'(0)+1~<1>:>62=< 1 )
1 1 1 0 -1



MmN 90 T : Rafz] — R? non .3
Vp(x) € Rofz] : T (p(x)) = (p(1),p'(1))
D990 YW Ntna 15w naxn Mt p'(1) 1 .owm9a 1 Sw nasn e p(1) Iwrd

B = {1,x, 14 x2} 1 Y07TIVDN ©OIAN S TWUND [T]g THN»D NN NN (N)
avn) PIN9

T(1) = (1,0),T(x) = (1,1),T(1 + 2*) = (2,2)

=R

mi=(0 1 2)

ker T, ImT nx avn (2)
avny Pang

qona ImT = R? o5

0 0
1 1 2 1 0 0
N<012)—N<012>— =2t | :teR ) =span -2
t 1
=R
ker T = span {2z + (1 +2%)} =
1 1
.[T]g: 1 DMV Y ova B = {v,ve,v3} 8 W' T:V =V rn 4
2

290 1" ONN .[T]g SV NVIPNIVLTN AKX VN .V 5 INR ©0a1 C' N (N)
D»PNN PN

b))l

-2 det [1)§ =2

C

det [T1G = det ({116 [TI5 1115 ) = det [11¢ - det [T15 - det [1]5 = — Tk

detA™1 = ﬁ YV 702 DVNNYN TUND
12290 NN 1PN



[T"]g awn 'yav 1 N (3)

v 75 NN P n¥vn Ny [T]g, UN V) = vg, vh = v1,vh = vg WNRD B’ = {v],vh,v5} IO ()

[T, = P[T)p P!

5 9AP) MINMN NIV NITHIIN )PINS

TUl = U
T'UQ = v+ vy
TU3 = 21}3
=R
, 1 1
Tg = 1
2
0PN
B’ B B B’
[Tlg = U]p [TIg U5
DY 19
1
P=[I =1
1
viann Nx 2apn
1NNoNNA



